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Question: 59

A high profile business customer has two security concerns for their new public application workload on IBM Cloud, security of the
application at Network Layer 7 and DDoS. Which IBM Cloud solution should be deployed to mitigate these concerns?

« A. Global Internet Service
« B. Hyper Protect Service

« C. Cloud Internet Service
« D. HyTrust Protect Service

Answer: C
Reference:
https://cloud.ibm.com/docs/cis?topic=cis-distributed-denial -of-service-ddos-attack-concepts

Question: 60
IBM Cloud Security Advisor Network Insights uses which two KPIs to monitor inbound traffic? (Choose two.)

« A. Reconnaissance by suspicious clients

B. Suspicious request header format

« C. Abnormally large numbers of failed login attempts

« D. Suspicious client IP address from the black list

« E. Abnormally large payloads sent by suspicious clients

Answer: AC
Reference:
https://cloud.ibm.com/docs/security-advisor?topic=security-advisor-network

Question: 61
What is Continuous Delivery?

« A. Automating the process that moves software through the software development lifecycle

« B. An asynchronous message delivery service on IBM Cloud

« C. The practice of using canary deployments when delivering code

« D. Frequently code, build, and integrate the work of all developers on a software project each day

Answer: D
Reference:
https://www.ibm.com/cloud/continuous-delivery

Question: 62
What is required before an IBM Cloud Toolchain can be executed?

« A. Creator role permissions

« B. A container repository

« C. A Continuous Delivery service
« D. A Kubernetes cluster

Answer: C
Reference:
https://cloud.ibm.com/docs/ContinuousDelivery?topic=ContinuousDelivery-toolchains_getting_started



Question: 63
Which of the following is a type of DDoS attack that Cloud Internet Services would protect against?

« A. Layer 2 Attacks

« B. Layer 5 Attacks

« C. Fireware Attacks

« D. Volumetric Attacks

Answer: D

Reference:

https://www.ibm.com/cloud/cloud-internet-
services#:~:text=1BM%20Cloud%?20Internet%20Services%20is%20a%20simple%20set%200f%20edge,the
%200ngoing%?20availability%200f%20their

Question: 64
Which IBM Cloud service makes it possible to troubleshoot logs in real time to diagnose issues?

A. IBM Log Analysis with LogDNA
B. IBM Cloud Monitoring with Sysdig
C. API Gateway

D. Portworx Enterprise

Answer: A
Reference:
https://cloud.ibm.com/docs/Log-Analysis-with-LogDNA?topic=Log-Analysis-with-LogDNA-getting-started
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